

Hyelapatubda Chidana
19/EN601/016
Chemical Engineering

$$1. \frac{dy}{dx} + y \tanh x = 2 \sinh x$$

$$P = \tanh x$$

$$Q = 2 \sinh x$$

$$\int P dx = \int \tanh x = \int \frac{\sinh x}{\cosh x} dx$$

$$= \ln \cosh x$$

$$IF = e^{\int P dx} = e^{\ln \cosh x}$$

$$y \cdot IF = \int Q \cdot IF dx$$

$$y \cdot e^{\ln \cosh x} = \int 2 \sinh x \cdot e^{\ln \cosh x} dx$$

$$y = \int 2 \sinh x dx \equiv y = 2 \cosh x + C$$

$$2. \frac{dy}{dx} + 2y = e^{3x}$$

$$P = 2$$

$$Q = e^{3x}$$

$$\int P dx = 2x$$

$$IF = e^{\int P dx} = e^{2x}$$

$$y \cdot IF = \int IF \cdot Q dx$$

$$y \cdot e^{2x} = \int e^{2x} \cdot e^{3x} dx$$

$$y e^{2x} = \int e^{5x} dx$$

$$y e^{2x} = \frac{1}{5} e^{5x} + C$$

$$y = \frac{1}{5} e^{3x} + C e^{-2x}$$

$$3. x \frac{dy}{dx} = x^2 + 2x - 3$$

$$\frac{dy}{dx} = x + 2 - \frac{1}{x} \cdot 3$$

$$dy = (x + 2 - \frac{3}{x}) dx$$

$$\int dy = \int (x + 2 - \frac{3}{x}) dx$$

$$y = \frac{1}{2} x^2 + 2x - 3 \ln x + C$$

$$4. \frac{dy}{dx} + \frac{y}{x} = y^3$$

$$y^{-3} \frac{dy}{dx} + y^{-2} x^{-1} = 1$$

$$z = y^{-3} = y^{-2} = y^{-1}$$

$$\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$$

$$-2y^{-3} \frac{dy}{dx} + (2y^{-2} x^{-1}) = -2$$

$$\frac{dz}{dx} - 2x^{-1} z = -2$$

$$P = -2x^{-1}$$

$$Q = -2$$

$$\int P dx = -2 \ln x$$

$$IF = e^{\int P dx} = \frac{1}{x^2} \rightarrow z \cdot \frac{1}{x^2} = \int \frac{1}{x^2} \cdot (-2) dx$$

$$y = (2x + (x^2)^{-1/2})^{-1/2} = y$$

$$5. x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$$

$$\frac{dy}{dx} = x \sin 3x + 4x^{-2}$$

$$\int dy = \int x \sin 3x + 4x^{-2} dx$$

$$y = \int x \sin 3x + 4x^{-2} dx$$

Integrate by parts for $\int x \sin 3x$

$$\int u dv = uv - \int v du \quad \begin{matrix} u = x \\ dv = \sin 3x \end{matrix} \quad \begin{matrix} du = 1 \\ v = -\frac{1}{3} \cos 3x \end{matrix}$$

$$= -\frac{1}{3} x \cos 3x - \int -\frac{1}{3} \cos 3x$$

$$= -\frac{1}{3} x \cos 3x + \frac{1}{3} \left(\frac{1}{3} \sin 3x \right)$$

$$\int 4x^{-2} dx = \frac{4x^{-3}}{-3} = -\frac{4}{3} x^{-3}$$

$$y = -\frac{1}{3} x \cos 3x + \frac{1}{9} \sin 3x - \frac{4}{3} x^3$$

$$6. (x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

$$\frac{dy}{dx} = \frac{2y^3}{(x^3 + xy^2)}$$

$$x + x \frac{dy}{dx} = \frac{2y^3 x^3}{(x^3 + y^2 x^3)}$$

$$= \frac{x^3 \frac{2y^3}{x^3} (1 + y^2)}{x^3 (1 + y^2)} = \frac{2y^3}{(1 + y^2)}$$

$$x \frac{dy}{dx} = \frac{2y^3}{(1 + y^2)} - \frac{y^3}{1}$$

$$x \frac{dy}{dx} = \frac{2y^3 - y - y^3}{(1 + y^2)(1)} = \frac{y^3 - y}{1 + y^2} = \frac{y(y^2 - 1)}{1 + y^2}$$

$$\frac{1 + y^2}{y(y+1)(y-1)} \frac{dy}{dx} = \frac{1}{x} \frac{dx}{dx}$$

Integrating by partial fractions

$$\frac{1 + y^2}{y(y+1)(y-1)} = \frac{A}{y} + \frac{B}{y+1} + \frac{C}{y-1}$$

$$A = -1 \quad B = 1 \quad C = 1$$

$$\int -\frac{1}{y} + \int \frac{1}{y+1} + \int \frac{1}{y-1} = \int \frac{1}{x} dx$$

$$-\ln y + \ln(y+1) + \ln(y-1) = \ln x + C$$

let $C = \ln A$

$$-\ln y + \ln(y+1) + \ln(y-1) = \ln x + \ln A$$

$$\ln \left(\frac{(y+1)(y-1)}{y} \right) = \ln (Ax)$$

$$\frac{y^2 - 1}{y} = Ax$$

$$\text{since } y = \frac{y}{x}$$

$$y - \frac{1}{y} = Ax \quad = \frac{y}{x} - \frac{x}{y} = Ax$$

$$\frac{y^2}{x} - \frac{x^2}{y} = Ax$$